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o oL -Daten Ux=(A\-550)/50
L =(Mo+ o)2 logV6=-0,35[)—U- >
log 0=-0,35-u ]2
logL =-0,35[u)—Us7d?
570 Adapt.: A, =570
maximum
log(L m)=-0,08
L m=0,81
Schwellen
t2=0,00, £=0,00

EG630-1N
Ux=(A\-550)/5(
log/Vlo=-0,35lu\—u 1
log 0=-0,35l-u 12
_0=1-Mg; o=1- o

Zaximum

e iog(L -m)=-0,08
\ L m=0,81
Schwellen
¢ tg=0,00, =0,00

L
-1 1
500 600 700 A/nm

1in:545, 570, 595 EG630-3N

m  n Lin-Daten Ur=(A-550)/50
L =(Mo*+ o)f2=Mp* n  loglVo=-0,35-us.?
Lin=L =(Vn+ n)/2 log =—0,35[u\~u ]2
n mLin n=2Mo; n=2 o
570 Adapt.: A, =570
-~

3 U,

\

2 .
maximum

" Jog(Lnm)=-0,08
Linm=1,63
Schwellen
ta=0,00, £=0,00

Lin

37w,

\

700 A/nm
1in:545, 570, 595 EG630-5N
_n_n L_n-Daten Ux=(A\-550)/50
L =(Mo+ o)f2=Mp+ n  loglVo=-0,35-us:?
L in=2-Lin log 0=-0,35u\—u ]2
n=2-Mpn,  n=2- n
Adapt.: A,_=57
aximum
iog(L|nm)=-0,08
Linm=1,63
Schwellen
ta=0,00, £=0,00

3 U,

\

+
700 A/nm
lin:545, 570, 595 EG630-7N
EG630-7N

logarithm. [IVlg, o, L ]-Daten Up=(A-550)/5(
Li=Mo+ o2 log)Vlo=-0,35[~u-:
log 0=-0,350,-u 12

logL 4=-0,35[ur~Us7d?

Adapt.: A\, =57

maximum

% Jog(L m)=-0,08
L m-0,01
Schwellen

Y ta=0,00, £,=0,00

700 A/nm
EG630-2N
|]-Daten  uy=(A-550)/5(
log/Vlo==0,35[u)~us]
log 0=-0,35l,-u 12
_o0=1-Mqg;  o=1- o
Aliant. N, =570
miaximum
7 log(L m)=-0,08
! L m=081
Schwellen
ta=0,00, 1,=0,00

3 )
700 A/nm
log:545, 570, 595 EG630-4N
logarithm. [\, n, Lin|-Daten  Uy=(r-550)/5(
L =(Mgt o)f2=Mpt n  loglVio=—0,35[\~U:-]
Lin=L . =(Mn*+ n)/2 log 0=-0,35[u\-u 12

log[Mn, n, Lin] n=2Vlo; n=2 o
Adapt.: A\, =570
maximum
log(L |nm)=-0,08
Inm=1,
Schwellen
ta=0,00, ,=0,00

\

0,5

3 U

700 A/nm

lin:545, 570, 595 EG630-6N
logarithm. [V_n, _n, L_;]-Daten  u=(\-550)/5(
L.=(VMo+ o)f2=Mp+ n  logVio=—0,35\-us:]?
L n=2-Ln log 0=-0,35Uy-u ]2
log[M n, nL i n=2=Mn,  n=2- n
570 apt.: Ay =570

maximum
log(L |nm)=-0,08

Inm=1,63

Schwellen
t2=0,00, £=0,00

\

0,5

Lfln

3 U

700 A/nm
lin:545, 570, 595 EG630-8N

\

» o L -Daten
L. =(Mot+ 0)/2

Ux=(A-550)/5(
logV15=—0,35u)~Us.]?
log 0=—0,350\-u ]?
10gL o=—0,35[y~Us75] 2

Adapt.: A, =570
maximum
log(L m)=-0,07

L m=0,84

Schwellen

ta=0,03, 1=0,00

Ur=(A-550)/5(
log/Vlo==-0,35uy—u 2
log 0=-0,35l-u 12

4 ta=0,03, ,=0,00

3 Uy,

\

L
\¥/
1
600

.
=il
500 700 A/nm
lin:545, 570, 595 EG631-3N
n n Lin-Daten Ur=(A-550)/5(
L =(Mo+ o)f2=Mp+ n  logVip=—0,35\-U:.]°
Lin=L =(Mnt+ n)/2 log 0=-0,35)—u ]2
n mLlin n=2Mo; n=2 o
570 Adapt.: A\, =57
ol

2 =
maximum

" log(Lnm)=-0,07
Linm=1,69
Schwellen
ta=0,03, 1=0,00

Lin

3 Ty

700 A/nm
EG631-5N

Up=(A-550)/5(

\

“n _n L n-Daten
Li=(Mo+ o)2=Mn+ n  l0gMo==0,35L1)-Us:q>
L in=2-Lin log 0=-0,35u\—u ]2

n mln n=2-Mn,  n=2- n
Adapt.: A, =570

ximum
0g(L|nm)=-0,07

Linm=1,69

Schwellen

ta=0,03, 1=0,00

3 U,

\

t
700 A/nm
lin:545, 570, 595 EG631-7N
EG631-7N

TUB-Prufvorlage EG63; Relatives Elementar-Farbensehen

Empfindlichkeiten logLMS-R17_Mbund Kombinationen; Schwellg20,00 (links) und 0,03 (recht
Y

logarithm. [Vlg, o, L ]-Daten
L =(Mot+ o)/2

Ur=(A—550)/
log/Vlg==0,35[uy~u 2
log 0=-0,350,-u 12
logL o=-0,35[ur~Us7d?

570 Adapt.: A, =570

= maximum
Y '[Lv A log(L |- m)=-0,07

o -

log[Mo, o L]

L m-U,04
Schwellen
ta=0,03, 1t=0,00

]-Daten  uy=(A-550)/5(
log/Vlo=—0,35[u)~Uu:]
log 0=-0,350,-u 12
o=1-Vo; _0:1' o
Adebi N =570
fraximum
Tog(l - m)=-0,07
! L m=0,84
Schwellen
t2=0,03, £=0,00

log:545, 570, 595 EG631-4N
logarithm. [/, n, Lin-Daten  Uy=(\-550)/5(
L =(Mgt o)f2=Mp+ n  loglVio=—0,35[\~U:-]
Lin=L . =(Mn*+ n)/2 log =-0,35fu\-u 12
log[Mn, n, Lin] n=2Vlo; n=2 o
Adapt.: A, =570
maximum
log(L |nm)=-0,07
Inm=1,69
Schwellen
ta=0,03, 1t=0,00

0,5

1in:545, 570, 595 EG631-6N
logarithm. [V _n, _n L_;]-Daten  uy=(A-550)/5(
L =(Mgt o)f2=Mp+ n  loglVig=—0,35[\~U:-]
L in=2-Lin log ¢=-0,35u\-u ]2
log[V n, nL in n=2-Mp;  _n=2- n
570 pt.c Ay =570

maximum
log(L |nm)=-0,07

Inm=1,69

Schwellen
ta=0,03, t=0,00

0,5

Lfln

lin:545, 570, 595
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